ok geom overall 09/17/2020

CONTRACT AGREEMENT

FOR

NO.: 2020-523

CONCRETING OF POB. (CATIGBIAN)-AMBUAN-SAGASA(BALILIHAN) ROAD AT BALILIHAN, BOHOL

KNOW ALL MEN BY THESE PRESENTS:

This CONTRACT made by and between the Provincial Government of Bohol (Government, represented by the Governor, ATTY. ARTHUR C. YAP hereinafter called the "Owner"), as the PARTY OF THE FIRST PART and WYNN CONSTRUCTION, represented by proprietor MR. NEREO O. LLORENTE (hereinafter called the "Contractor") as the PARTY OF THE SECOND PART,

WITNESSETH

WHEREAS, the Owner is desirous that CONCRETING OF POB. (CATIGBIAN)-AMBUAN-SAGASA(BALILIHAN) ROAD AT BALILIHAN, BOHOL belonging to the Provincial Government of Bohol (hereinafter called the "Project")

WHEREAS, the Owner has accepted the bid of the Contractor for the execution of the above mentioned project in the amount of Four Million Four hundred Ninety Thousand Pesos Only, (**P** 4,490,000.00).

WHEREAS, Project shall be completed in 45 Calendar Days in accordance with the provisions of the Bid Documents;

NOW, THEREFORE, the Parties hereto further agree on the following:

- 1. The following documents shall be deemed to form parts of this contract, viz:
 - a. Contract Agreement;
 - b. Bidding Documents;
 - c. Winning bidder's bid, including the Eligibility requirements, Technical and Financial Proposals, and all other documents/statements submitted;
 - d. Performance Security;
 - e. Credit line in accordance with the provisions of this IRR, if applicable;
 - f. Notice of Award of Contract;
 - g. Other contract documents that may be required by existing laws and/or the procuring entity concerned in the Bidding Documents, such as man power schedule, equipment utilization and health program;
 - h. Other pertinent documents as may be reasonably required by the Province.
- 2. Project Equipment specified/needed should be stationed at the project sites until completion of all work operations. The deliberate act of removing the equipment from designated project sites is not permissible.
- 3. The Provincial Engineer Office together with PEO Officials should convene with contractors or their authorize representatives for a regular Monthly Coordination Meeting scheduled every first (1st) Wednesday at 9:00 in the morning at the Provincial engineer's Office, New Capitol Site, Tagbilaran City and

101210432

- 4. The pertinent provision of R.A. 9184 and its Implementing Rules and Regulations, Part A, particularly but not limited to the implementation of the project as well as all applicable laws and regulations are deemed incorporated to and forming integral parts of this Contract.
- 5. In consideration of the payments to be made by the Owner to the Contractor, as earlier mentioned, the Contractor hereby covenants with the Owner to implement and complete the Project in conformity with the provisions of the Contract, the documents incorporated herein and the laws and regulations made integral parts hereof.
- 6. The Owner hereby covenants to pay advance payment to the Contractor of 15% of the total contract price upon approval of the Contract, issuance of Notice to Commence Work and the posting of irrevocable standby letter of credit of equivalent value. The Contractor hereby covenants to repay advance payment to the Owner by deducting 15% from his progress payment.

Item No.	QTY.	UNIT	Description of Supplies/Materials/Services	Unit Price (Pesos)	Amount (Pesos)
			FOR THE ENGINEER(RENTAL		
A.1.1(8)	2.00	MONTH	BASIS)	8,000.00	16,000.00
			CONSTRUCTION SURVEY	20,000,00	0.000.0
B.4(1)	0.26	KM.	AND STAKING	38,000.00	9,880.0
			PROJECT		
D. C.	1.00	FACIL	BILLBOARD/SIGNBOARD(8' x	6,429.70	6,429.7
B.5	1.00	EACH	8') OCCUPATIONAL SAFETY	0,429.70	0,423.7
B.7	1.00	L.S.	AND HEALTH PROGRAM	5,997.00	5,997.0
B./	1.00	L.S.	MOBILIZATION/DEMOBILIZA	3,337.00	3,337.10
B.9	1.00	L.S.	TION	78,232.59	78,232.5
D.7	1.00	L.S.	HON		
100(1)	0.16	HA.	CLEARING & GRUBBING	211,000.00	33,760.0
			SURPLUS COMMON		
			EXCAVATION(ROADWAY &	100.00	144.561.5
102(2)	731.12	CU.M.	SIDE DITCH)	198.00	144,761.7
			STRUCTURE EXCAVATION,		
			SOFT ROCK(FOR SLOPE	457.00	3,820.5
103(1)B	8.36	CU.M.	PROTECTION FOUNDATION)	437.00	3,620.3
			PIPE CULVERTS AND DRAIN		
102/01	24.02	CU.M.	EXCAVATION(COMMON SOIL)	305.00	10,376.1
103(6)A	34.02	CO.IVI.	EMBANKMENT FROM	303.00	10,570.1
			BORROW(COMMON		
104(2)A	48.93	CU.M.	MATERIAL)	637.00	31,168.4
101(2)/1	10.55	001111	SUBGRADE		
			PREPARATION(COMMON		
105(1)A	1,134.00	SQ.M.	MATERIAL)	21.00	23,814.0
			AGGREGATE SUBBASE		
	e		COURSE,		
			0.20M.THK(INCLUDES		<i>(</i> 4 0 000 =
200(1)	615.67	CU.M.	SHOULDERING)	1,003.80	618,009.5
			PORTLAND CEMENT		
			CONCRETE		
311(1)C		00.11	PAVEMENT(UNREINFORCED)	1 705 40	2,831,644.4
1	1,586.00	SQ.M.	-0.23M THK, 14 DAYS	1,785.40	2,031,044.4

			TOTAL	>>>>>	P 4,490.000.00	
1	3.00	SET	50 WATTS	72,945.90	218,837.70	
624(1)A			SOLAR LED STREET LIGHT,			
			SINGLE ARM POST(8M.),			
612(2)	21.55	SQ.M.	MARKINGS-YELLOW	1,016.90	21,914.20	
			THERMOPLASTIC PAVEMENT			
			REFLECTORIZED			
612(1)	57.82	SQ.M.	MARKINGS-WHITE	981.70	56,761.89	
			THERMOPLASTIC PAVEMENT			
			REFLECTORIZED			
506(1)	59.20	CU.M.	CANAL & PARAPET)	4,857.00	287,534.40	
			STONE MASONRY(LINED		,	
505(2)A	21.34	CU.M.	A(SLOPE PROTECTION)	4,267.00	91,057.78	
			GROUTED RIPRAP, CLASS			

Four Million Four hundred Ninety Thousand Pesos Only

7. Any controversy arising from this contract shall be resolved under the duly established alternative mode of settling disputes as provided by law. In case of resort to court action the parties agree that the venue thereof shall be in the proper court in the city of Tagbilaran to the exclusion of any other venues.

IN WITNESS WHEREOF, I have hereunto set my hand and affixed my notarial seal this 13th day of August, 2020 in Tagbilaran City, Bohol, Philippines.

PROVINCIAL GOV'T OF BOHOL

BY:

WYNN CONSTRUCTION

BY:

ATTY. ARTHUR C. YAP

Governor

MR. NEREO O. LLORENTE

Proprietor

BY THE AUTHORITY OF THE GOVERNOR

ATTY. KATHYRIN HE D. PIOQUINTO

Provincial Administrator

WITNESSES:

ENGR. CAMILO L. GASATAN

End User

ENGR. EUSTAQUIO G. CALIAO Engineer IV, PEO

ACKNOWLEDGEMENT

REPUBLIC OF THE PHILIPPI	NES)
PROVINCE OF BOHOL) S.S.
*	
1	
Personally appeared before	fore me, Atty. Arthur C. Yap representing the Provincial
Government of Robol with Employee I	D No. 19141 and Mr. Nereo O. Llorente with Community
Fox Cartificate No. 1015 3330	issued at Taskiloron (it) on
lax Certificate No. 100 x x y	me to be the same persons who executed the foregoing
My 7 1070, known to	including this mass upon which this acknowledgement is
instrument consisting of four (4) pages	including this page upon which this acknowledgement is
	their witnesses on each and every page thereof, and they
acknowledged to me that the same is the	eir free act and deed.
IN WITNESS WHERE	OF, I have hereunto set my hand and affixed my potarial
seal this day of AUG #3/2020	2020 in Tagbilaran City, Bohol, Philippines.
/	
Doc. No.	
Page No.	ATTY. JOHN JERIC S. LIM
Book No.	NOTARY PUBLIC UNTIL DEC. 31, 2021
Series of 2020	TIN NO./273/ 608 672 000
Series of 2020	P.T.R. Ng. 7940547
	IBP (O. 095579
	ROLL NO. 70690 06-04-18
	S/S NO. 2020-21



NO



Republic of the Philippines PROVINCE OF BOHOL City of Tagbilaran



OFFICE OF THE GOVERNOR

NOTICE TO PROCEED

August 17, 2020

MR. NEREO O. LLORENTE Proprietor WYNN CONSTRUCTION 0718, J.A. Clarin, St., Dao, **Tagbilaran City**

Dear Mr. Llorente:

Please be informed that the attached Contract Number 2020-523 dated August 13, 2020 has been approved. Notice is hereby given to immediately deliver the items enumerated herein within WYNN CONSTRUCTION . Upon receipt of this notice at Provincial Engineer's Office.

In view thereof, you shall be responsible for performing the delivery of items & services under the terms and conditions of the Contract Number and in accordance with the Implementation Schedule.

Please acknowledge receipt and acceptance of this notice and be guided accordingly.

101210432 🕼

Very truly yours,

ATTY. ARTHUR C. YAP Governor **Province of Bohol** Date Approved:

BY THE AUTHORITY OF THE GOVERNOR

Provincial Administrator

Date Approved: 25 AUG 20

I acknowledge receipt of this Notice on

Name of the Representative of the Bidder

Authorized Signature

SEP 0 9 2020

: NERED O. LORENTE